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R o | BT e | B2 | e | e | B2 | B TR e | B2 | T | & | T
’ 100kN/mM%#BZ 5% -l -~ - -|3mEBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ 5 -~ - - -
s 1.00]0.00 ~ 4,65 58.01| Z#hLlst |0.00 ~ 0.00] 1.58 8.47 s 1.00f 500 ~ 511 58.01| Z=h 4+ | 500 ~ 511 1.58 8.47
9 100kN/m##8 %% 1.00{0.00 ~ 227 135.32| 3m%x#B2 5% -~ - - —| 100kN/mM%#8 % % 1.00{ 10.76 ~ 19.56 135.32| 3m%x#B 25 -~ - - -
s 1.00] 2.27 ~ 10.05 100.00f Z=h k4t |0.00 ~ 10.05| 2.50 13.36 s 1.00f 5.00 ~ 10.76 100.00f Z=hl4t | 5.00 ~ 19.56] 2.50 13.36
3 100kN/m##8 %% 1.00{0.00 ~ 250 139.22| 3m%*x#B2 5% -~ - - —| 100kN/mM%#2 % % 1.00{ 10.77 ~ 21.10 139.22| 3m%x#B 25 -~ - - -
s 1.00] 2.50 ~ 10.29 100.00f Z=hkist+ | 0.00 ~ 10.29] 2.85 15.24 s 1.00f 5.00 ~ 10.77 100.00f Zhl4t | 5.00 ~ 21.10f 2.85 15.24
4 100kN/m##8 %% 1.00{0.00 ~ 3.17 150.58| 3m%#% %] 0.00 ~ 0.18] 3.10 16.58| 100kN/m#%#8 2% 1.00{ 10.55 ~ 27.84 150.58| 3m#*x#8% %] 25.00 ~ 27.84| 3.10 16.58
ZHnLs 1.00] 3.17 ~ 10.95 100.00f Z=hkl4t |0.18 ~ 10.95| 3.00 16.05 s 1.00f 5.00 ~ 10.55 100.00f Z=h k4t | 5.00 ~ 25.00[ 3.00 16.05
5 100kN/m##8 %% 1.00{0.00 ~ 3.49 156.32| 3m%x# %% 0.00 ~ 0.67| 3.39 18.16| 100kN/m#%#B 2% 1.00{ 11.01 ~ 32.53 156.32| 3m%x#8% %] 25.00 ~ 32.53| 3.39 18.16
s 1.00] 349 ~ 11.28 100.00f Z=hklst | 0.67 ~ 11.28] 3.00 16.05 s 1.00f 500 ~ 11.01 100.00f Z=hkl4t+ | 5.00 ~ 25.00[ 3.00 16.05
6 100kN/m##8 %% 1.00{0.00 ~ 348 156.14| 3m%#% %] 0.00 ~ 0.43| 3.24 17.32| 100kN/m#%#8 2% 1.00{ 10.58 ~ 3291 156.14| 3m%x#8% %] 25.00 ~ 32.91| 3.24 17.32
s 1.00] 3.48 ~ 11.27 100.00f Zhklst |0.43 ~ 11.27] 3.00 16.05 s 1.00f 5.00 ~ 10.58 100.00f Z=hkl4t+ | 5.00 ~ 2500 3.00 16.05
7 100kN/m##8 %% 1.00]0.00 ~ 2.71 142.74| 3m%x#B2 5 -~ - - —| 100kN/mM%#8Z % 1.00{ 10.61 ~ 24.82 142.74| 3m%x#B 25 -~ - - -
s 1.00] 2.71 ~ 10.50 100.00f Z=hki4t+ | 0.00 ~ 10.50| 2.63 14.10 s 1.00f 5.00 ~ 10.61 100.00| Z=hl4t | 5.00 ~ 24.82| 2.63 14.10
8 100kN/mM%#BZ % -l -~ - -|3mZEBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ 5 -~ - - -
s 1.00/0.00 ~ 475 59.21| ZhLlst |0.00 ~ 475 1.78 9.52 s 1.00f 500 ~ 5.00 59.21 #hl4+ | 500 ~ 500 1.78 9.52
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
Zh st ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImEBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~

DiE
JH
Am|



